Academic Algebra 1

Practice for Sections: 6.7, 7.1, 7.5, 7.6
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SECTION 6.7a: Sketch the graph of eaéh linear inequaiity. ‘-Show a test point
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SECTION 6.7b: Sketch the graph (use intercept method) of each linear inequality. Show a

test point for each equation.

N x+y=2-2
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SECTION 6.7¢c: Sketch the graph of each linear inequality. Show a test point for each
equatl.on.$ 0 m{g\'o(’
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SECTION 6.7d: Sketch the graph of each linear inequality. Show a test point.
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SECTION 7.1a: Solve each system by graphing; identify the solution; and show a calculator
check. ‘ —
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SECTION 7.1b: Solve each system by graphing; identify the solution; and show a calculator
check.
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SEC;I‘_I()N 7.5a: Solve each system by graphing; identify the solution; and if possible check.
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SECTION 7.5b: Solve each system by graphing; identify the solution; and if possible check.
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SECTION 7.6a: Sketch the solution to each system of inequalities. Show a test point for each

equation. W\ Tl 0 1T 14 T(q O) 04 -2 ¥
38) y<3x+ 1‘;\} T(0) O)~3T - it
T T r0) 043T
- .!*I_* <1 y<3x+3K 10 Tw)0
PLET
. Ay, B
/5’: 1z HESHEEE
{ . ) N1 T
ny 87
:H;i 4\—_ + _;;1! / r_'/ ;;; If;"_ﬂ_-m_ﬁ »L\
Td_ \ V R = LR B 1] >
- :I_ 1
’ TN .. 5 insE
[/a" E\r ‘z !I‘
\ R
& AR
| SR
T(0,0) O
‘/1,5- T(0,0) o>-aD W\ (0, ) /‘9@
- 1 1
40) y>-2x-2 4 yrixe2 O A
3 (0,0 YEI, 2
y<x+2k‘:b e ) Z_zx_g,y T(o,o\ 0>/*3@
’ {‘ % fw\")‘ ° v v
l/ [ L ""‘)“i A Ly >
Al T
bt ||| 2SS ISR : P R
{1‘, i—I_j = ¥ _); g 4 B b 1 ____5
i /:_u, T ) _u_“?_ =
j - 1= "-f; r — = ..__>
"/;‘ T HL’ —|—eli -
5 = ‘ . _! ‘FA ""—"‘“”‘:Lﬁ?
—3 Y



SECTION 7.6b: Sketch the solution to each system of inequalities. Show a test point for each
equation. .
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